S-C-8-3_Molarity Calculations and KEY

Molarity Calculations
1. If 3 mol of sugar were dissolved in enough water to make a total solution of 1 liter, the solution would be _______________ M sugar.

2. If you took the sugar solution from number 1 and poured 500 mL of it into another container, what would be the molarity of the sugar solution in each container?
______________________________
3. If you add 1.5 mol sugar to enough water to make a total of 500 mL of solution, the concentration of sugar solute is _______________.
4. How many moles of NaCl are in 2.0 L of a 0.5 M NaCl solution?

5. What is the molarity of a solution containing 2.00 g of NaOH in 100 mL of solution?
6. How many grams of sodium nitrate (NaO3) are contained in 2.60 L of a 0.750 M solution?
7. Calculate the molarity of a solution containing 68.3 g of potassium chlorate (KClO3) in 3.00 L of solution.

Answer KEY 
Molarity Calculations
1. If 3 mol of sugar were dissolved in enough water to make a total solution of 1 liter, the solution would be 3 M sugar.

2. If you took the sugar solution from number 1 and poured 500 mL of it into another container, what would be the molarity of the sugar solution in each container? 3 M (the concentration remains the same; 3 mol per liter.)
3.
If you add 1.5 mol sugar to enough water to make a total of 500 mL of solution, the concentration of sugar solute is 3M.

1.5 mol ÷ 0.5 L = 3 M
4. How many moles of NaCl are in 2.0 L of a 0.5 M NaCl solution? 1.0 mol

2.0 L × 0.5 mol/L = 1.0 mol
5. What is the molarity of a solution containing 2.00 g of NaOH in 100 mL of solution?
	2.00 g NaOH 
	×
	1 mol
	=
	0.0500 mol NaOH

	
	
	40.00 g NaOH
	
	


	0.0500 mol NaOH
	=
	0.50 M

	0.100 L
	
	


6.
How many grams of sodium nitrate (NaO3) are contained in 2.60 L of a 0.750 M solution?
	2.60 L 
	×
	0.75 mol NaO3
	×
	85.00 g NaO3
	=
	166 g NaO3

	
	
	1 Liter
	
	1 mol
	
	


7. Calculate the molarity of a solution containing 68.3 g of potassium chlorate (KClO3) in    3.00 L of solution.

	68.3 g KClO3
	×
	1 mol
	=
	0.557 mol KClO3

	
	
	122.55 g KClO3
	
	

	0.557 mol KClO3
	=
	0.186 M

	3.0 L
	
	


